Test 2 $T, 2011  Name:
MAT 162 Gurganus

s. You may use a graphihg calculator. The

Directions: Show all work for part1a1 credit purpose:
test is closed book.

1. Use Euler’s Method to approx1mate y(2.2) gwen 2= 5x- 3y, and y(2)=1. Usea
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2. A; Find th ilibri i L (y- 2
i e equilibrium solutions to o (y—=2)(y-3)".

B. On asingle graph,sketch three solutions to 2 =(y-2)(y— 3)? for the three

differential injtigl conditions: y(0) =1, 2.5, and 4
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7. Find the value of k so that f(x) = x % + kx 'is a probability density function on [1 ,+00)
and then find the value of the mean for the probability density function.
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8. For f(x) = 17+ 6x'? ,’find the length of the curve y = f(x) fromx =2 to 8.
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9. Find the area of the surface generated by rotating about the x-axis the graph of y = cos(x)
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10. Let A be the region bounded by y =x+4 and y = 16-x% Suppose A has a uniform mass
density p. Find the moment about the x-axis and the moment about the y-axis.
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